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1) A CPU’s processing power is calculated in:
a). IPS
b)  CIPS
c) MIPS/BIPS/TIPS

d) Nano seconds

2) Who is credited with the technique of using punch cards to control patterns
_inaweaving machine?

a) Blaise Pascal

B). 3 ackquard

¢) Herman Hollerith

d) Both Jackquard and Herman Hollerith

3) Which device is called as Silico sapiens?
a) Hardware
b) VDU +CPU
‘¢) CU+MU+VDU
d) Computer.

4) EBCDIC can code up to how many different characters?
a) 255 b) 254
c) 256 d) 257

5) Thenibble is called
'a) Y byte(4 bits) b) Vi byte(2 bits)
c) 3 byte (6 bits) d) 1byte (8bits)
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6)

7)

8)

9)

- 10)

The smallest integer which can be specified by an 8-bit 2’s complement notation
is:

gy H197 b) -128

o) -126 St s

Binary representation for the decimal number 74 is

a) 1001010
b) 0101001
¢) 1101100

d) 00110011

. Hexadecimal representation for the decimal 984 is

a) 3D8 b) 4A6
¢) 3C5 d) 3D7

Zero has two specifications in:
a) Signmagnitude

b) [I’scomplement

c) 2’s complement

d) None of the above

Which of the following formulae is used to calculate the range of integer datatype
that can be specified by a n-bit 2°s complement number system.

a)- - 2¢ Mo (201 =1

b) (=27!—1 to+2™! +1)
c) (2+'+1)to (2*'-1)
d) (=2%'+1) to(2™! +1)
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11) What is the minimal form of the kamaugh map shown below? Assume that X
specifies a don’t care term.

abl 00|01 |11 ] 10

cd
00 1 X X
01 | X 1
11
10 | 1 X
a) b
b) bd+bve
c) bd+abcd
d) bd+bc+cd

12) Anexample of a universal building block is:
a) EX-OR gate
b) NAND and NOR Gates
c) AND gate
d) OR gate.

13) ‘The minimum number of D flip-flops required to design a mod-258 counter is
a) 512 h) 513
g) 9 d) 511

14) The number of full and half adders necessary to add 16-bit numbers is:
a) 8-halfadders and 8-full adders.
b) 16-halfadder and 0-full adders.
c) l-halfand 15-full adders.
' d) 4-halfadders and 12-full adders. -
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15) The total number of don’t care input lies in Binary Coded Decimal(BCD)

adder is:
a) 312 b)Y 313
c) 314 dl=315

16) - What does the following code do?

int X,y;

x=x"y;

y=x"y;

X=x"Y;

a) Leaves x and y unchanged.
b) Doubles x and stores in y.

¢c) Doubles y and stores in X.

‘ d) Swapsxandy.

17) What does the following piece of C program print
char hj[ =“NEET2017”;
char *a =hj;
printf(“%s”, ata[3] —a [1]);
a) NEET2017
‘b)) 712017
) 0P

d) 2017
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After shifting n bits right by using right shift operator in “C’ language,the left

18)
most n bits are:
a) Arealways filled with zeroes.
b) Arealways filled with ones.
c) Are filled with zeroes or ones and is machine dependent
d) None of the above.
19) What is the output of the following C code
for(int i=1; i<=5; i=i+1/2) printf“%d”.i);
a) it prints 1,1.5,2,2.5,3,3.5,4,4.5,5 and stops.
b) it prints 1,2,3,4,5 and stops.
c) itprints 1, 2,3,4,5 and repeats forever.
d) itprints 1,1,1,1,1 and repeats forever.
20) Assume that string 1 and string2 are properly defined and formatted strings.
~ Which one of the following statements identifies the content of string 1 is
similar to the content of string2.
a) if(stremp(stringl,string2)>0)
b) if(stremp(stringl,string2)==0)
c) if( string 1==string2)
d) if(stringl =string2).
21) The alias name for an array is:
a) Variable of Index
b) Index Variable or Subscripted Variable
.¢) Variable of Subscript
d) None of the above
M-2183 [6]



22) Let us consider the following ‘C” programs and calculate the size of structure
and union

void main()

{
struct hj

inta;

char b;

double d;
printf(“%d”,sizeof(struct hj));

void main()

{

union adarsha
{
Int a;
char b;
double d;

printf(“%d”,sizeof(union adarsha));

}

a) The size of struct is 11 bytés and union is 11 bytes.
.b) The size of struct is 11 bytes and union is 8 bytes.

c) The size of struct is 8 bytes and union is 8 bytes

d) The size of struct is 8 bytes and union is 11 bytes.

23) In C,if you pass an array as an argument to-a function,what actually gets
passed?

a) Value of elements in array
b) First element of the array
c) Base address of the array
d) Address of the last element of array.
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24) Which of the following function is used to free the allocated memory?

a) remove (var-name);
b) free(var-name);

c) delete(var-name):

d) dalloc(var-name);

25) ftell() is used to

26)

'27)

a) Repositions the file pointer to end of a file
b) Repositions the file pointer to the beginning of a file
c) Return the current position of the file pointer.

d) Provide the name of'the file.

Which of the following is mainly essential to transform an infix expression

" successfully into a post fix expression:

a) Stack Operator
b) Stack Operand
c) Parsetree and Lexical tree

d) Stack operator.stack operand.parse tree,lexical tree.

Linked List is not a suitable primitive data structure to implement the concept
of Binary Search because its time complexity is: :
8 O@)
b) O(nlogn)
¢) Om
d) O(logn)
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28)

29)

30)l

31)

How many comparisons are necessary to sort an array of length 5 if a straight
selection sort is used and array is already sorted in the opposite order.

a) 1D b) 1

c) 10 d). 20

Consider a Merge Sort Algorithm which is used to sort a following collection
of elements in an increasing order 20,47,15,8,9,4,40,30,12, 17. The sequence
of all these elements after the completion of second pass is specified as follows

a) 8,9,15,20,47,4,12,17,30,40.
b) 9,15,20,20,47,4,9,30,40,12,17.
c) 4,89,15,20,47,12,17,30,40.
d) 15,20,47,4,8,9,12,30,40,17.

The depth of complete binary tree is given by
a) Dn=nlogn

b) Dn=nlogntl

c) Dn=logn

d) Dn=lognt

[dentify the correct statement from the following choices with respect to C++
language

a) C++ supports only Inline constructors but not inline functions.

.b) C++ supports inline functions but not an inline constructors.

¢) C++ supports both inline functions as well as inline constructors.
d) None of the above.

32) What will be the size of an empty class in C++.
a) OByte. b) : 1Byte.
¢) . .2 Bytes. d) 3 Bytes.
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33)

34)

35)

36)

Protected data member in C++ is a sequence of
a) (50% Private +50% Protected).

b) (25% Protected +75% Public).

c) (50% Publict 50% Private).

d) (75% Protected+25% Private).

Identify the correct statement from the following choices.

a) At the time of Objects creation and destruction Constructor acts as a
LIFO and Destructor acts as FIFO.

b) Atthe time of Objects creation and destruction Constructor acts as FIFO
where as Destructor acts as a LIFO,

c) Both(a) & (b)

d) None of the above.

Which of the following operators in C++ cannot be overloaded by using a
friend function :
a) +’_’*,'/ ) %

! b) -H-,— 2

C) = (): [] iy

d) new,(delete.

What is the output of the following program?
public class Hj
{

public static void main (String [] args)

{

private static final int value=5;
float total,

_ total=value + value/2;

System.out.println(total);

}

} .

a)e 13 b) 7.0

c) 50 d) None of the above
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37) What is the Output of the following code:

intm=100;
while(true)
{
if(m<10)
continue;
m=m-10;
}
System.out.println(“m is “ + m);
). 1 b) 100
c) 90 d) infinite loop

-38) The methods wait () and notify() are defined in
a) javalang.String
b) java.lang.Runnable
e java;lang.Object
d) Java.lang.ThreadGroup

*39) What is the error in the following class definition?
| abstract class XY

{

abstract sum (int x inty) { }

}
a) Class header is not defined properly

.b) Constructor is not defined

c) Method is not defined properly
d) No error
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40) ‘Which of the following types of comments is supported by the Java language?
- a) Single,multiple,and quote
b) block,line and javadoc
c) Javadoc, literal and string

d) Javadoc, char and string.

41) Letus Consider the following table of arrival time and burst time for the three
processes PO,P1 and P2. ;

|Process Arrival Time | Burst Time
PO Oms 9ms
P1 I ms 4ms
P2 2 ms | 9ms

The pre-emptive shortest job first Scheduling algorithm is used.Scheduling is
carried out only at arrival or completion of processes.What is the average
waiting time for the three processes?

a) 4.33ms b) 5.0ms
¢} +e33ms - d) 7.33ms

42) A Critical Section is a Program segment:
a) Which avoids deadlocks.
b) Where shared resources are accessed. -
c) Which must be enclosed by a pair of semaphore operations P, and V.

d) Which should run in a certain specified amount of time.
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43) The following program consists of 3 concurrent processes and 3 Binary
semaphores. The semaphores are initialized as S0=1,51=0,52=0.

Process PO Process P1 Process P2

while (true) { wait(S1); wait(S2);

wait(S0) release(S0); release(S0);
|print(0);

release(S 1);

release(S2):

}

How many times will process PO print 0* ?

a) Exactlytwice b) Exactly once

c) Exactly thrice d) Atleasttwice.

44) Which of the following Scheduling algorithm is known as non-preemptive
CPU Scheduling:

"a) Round Robin.
b) Multilevel Queue Scheduling.
¢) Multilevel Queue Scheduling with Feedback.
d) Allofthese.

45) A Solution to the Dining Philosophers problem which is used to avoid deadlock
is:

a)  Ensures that all Philosophers pick up the left fork before the right fork.
b) . Ensures that all Philosophers pick up the right fork before the left fork.

| ¢) Ensures that one particular philosopher picks up the left fork before the
right fork and that all philosophers pick up the right fork before the left
fork.

d) None of the above.
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46) The Virtual Circuit network is a cross network obtained by

a)
b)
c)
d)

Space Division Switching and Circuit Switched Network
Time Division Switching and Space Division Switching
Datagram networking and Circuit Switching

None of the above

47) In anetwork of LAN’s connected by Bridges,packets are sent from one LAN
to another through intermediate bridges. Since more than one path may exist
between two LAN’s, packets may have to be routed through multiple bridges.
Why is spanning tree algorithm used for bridge-routing?

a)
b)
c)
3

For shortest path routing between LANS.
For avoiding loops in the routing paths.
For Fault Tolerance.

For minimizing collisions.

48) Letus consider S and D are Source and Destination devices connected through
four intermediate routers labeled IR in ISO/OSI Reference model. Calculate
how many times each packet visits the Network Layer(NL) and the Datalink
Layer(DL) during a transmission from Source to Destination in an ISO/OSI
Reference model.

S

-GO—G)—GD)—GO—b

a) NL-04times and DL-04 times.
b) NL- 10 times and DL-06 times.
c) NL-06timesand DL-10 times.
d) NL-02timesand DL-10 times.
49) Which of the following transport layer protocol is used to support electronic
email. i :
a) ECP B} UDP
c) IP ' d) SMTP

50) Which of'the following is correct for Synchronous Time Division Multiplexing,.

a)
b)
c)
d)

M-2183

Data rate link is n times faster and the unit duration is n times longer.

Data rate of link is n times faster and the unit duration is n times shorter.
Data rate of link is n times slower and the unit duration is n times shorter.
Data rate of link is n times slower and the unit duration is n times longer.
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Rough Work
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